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250 REM “STABLE ANALYSIS”
255 CLEAR
260 DIM X(70)
265 READ H, D, C, Fg, Cz, I, Gi, G2, F1, W1, A, P, U1, Ci1,
- L1;-Qo, Q2,7Q1, ' - R
267 E1—90—A :
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LET Ki1=1
T=ATN(F2/K1)

Di=D+ATN ((Q2—Q1)/(G2eL3))
B=ATN(—TANT+SQR((TANT)A2+TANT/TAN(T+C)+COSC
« TAND1/ (COST «SIN (T+C) ) ) ) |

L2=H « COSD/SIN (B—D) g
U2=0.5¢1 G| «HA2+COSD « COSB/SIN(B—D)
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K5=INT(100 » K3/K4+0.5)/i00: LPRINT “Kc¢="; K5:LPRINT
“B=", B:LPRINT “R=", R:LFi o

FOR Keé=10+K5 TO { "STEP —1
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Ei=90—A

T=ATN(F2/K1)

Di=D+ATN ((Q2~Q1)/(G2¢L3))

B=ATN(— TANT+SQR((TANT”\2+TANT/TAN(T+C)+COSC
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'X(I1)—-INT(10¢K1+0 5) /10— INT(zocK2+o 5)/10 _

LPRINT “X1="; X(Il); “TAB 9; “Ki1="; Ki
IF X (I1) =0 GOTO 440 -

IF X (I1i—=1) /X (I1) <o GOTO 440

NEXT: K6 :
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INPUT “KS (1) ="; K1, “KS(N)="; KN
LF 1 R :

FOR K7=100+ K1 TO 100 KN -

K1=K7/100
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465 Lo= H-COSD/SIN(B D) ‘
470 U2=0, SOIOGIOH/\ZOCOSDOCOSB/SIN(B D)
475 Q=Qo0+QI1+0, 5eH ¢ COSD ¢ COSB o (Qz Ql)/(SIN(B D)0L3)
480 W2=05¢G2eH/A2eCOSD e COSB/SIN (B— D)+Q‘-H>-CQS_D-
COSB/SIN (B-D)

482 E2=90+B

485 R2 F2-(W2-COSB U2-SIN(E2 B))+K10(W2-SINB U2
«COS (E2—B) )+C2¢L2

490 R3=K1 #COS(C+B) —onSIN(C+B)
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510 K2= Ks/K4

515 X1=INT (10¢K1+4+0,5)/10—=INT (10#K2+4+0.5) /10

520 X2=ABS (X1)

525 IF X2=0 GOTO 550

530 NEXT K7 _

535 LPRINT “THE RESULT IS OVERFLOW"

540 END ‘ : :

550 KS=INT (100 K2+0.5) /100

555 LPRINT “KS="; KS: LPBINTR‘B,‘_'Q B: LPRINT “R="; R

520 GOTO 540 -

*s65 DATA (H), (D), (C), (F2), (C2), (1), (G1),
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¢, (T1) EWEBCHERA (dr=arctgf,);
B, (B1). B2 (B2) —TEHA. o _
WHANHRAKX (5 R,

ctg (By—d) —ctg (Bi+d, ) =ctg (B, +B2) —ctg (B;+Bs+0+¢d2) (14)
ctg (B, —d) —ctg (B1+¢: ) =2ctg (By—0a) —ctg (B,+5)
—ctg (By+0+¢,—a) (15)

A (14) . (15) BB, B, FHCMOGIHHMRRERE, FEEE.

FEER (14) . (15) MmAs, JA BASIC BERMARF, RERARIE,
A REF HEER.

£ (15) p4

T=2ctg (By—~a) —ctg (B, +d) —ctg (By+0+¢,~a);
B T=f(B.), |

XH T'—-—ctg(Bl——S)—-ctg(B 1 +¢>z)=‘g‘(;g"(¢z+§;ifgi);(_;g?+¢z_5) v

4 - Bi= (arccosS;+d—¢, ) /2
X Sy=cos ($,+d) —2sin (b, +d) /T ,
X (14) s

e=ctg (B;+B,) —ctg (B +P,+04+d,)
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(1)# A(H6)

(2)# A

1 CLEAR

3 DIM X (70)

5 READ D, T1, T2, C, A

10 FOR B2=21 TO 70 STEP 2

15 GOSUB 145 ® A
20 LPRINT “X=",X (B2), TAB 10; “Bz=". Bz
21 IF X(B2)=0 GOTO 25 -

22 IF X (B2—2)/X (B2) <0 GOTO 25

23 NEXT B2

25 INPUT “B2="; B5, “BN=", BN .

30 LPRINT “B2=", Bs, TAB 10, “BN=", BN
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PRINT B3, B4

{READ G, HLFL,WI P, UL, EV}
]

[H’ﬁ_Xz. Xa, X2, KL]

PRINT KC

PRINT THE RESULT
| 1S OVERFLOW

: B 6

35 FOR B=100#B5 TO 100 * BN

40 B2=B/100

45 T=2/TAN (B2—A) ~1/TAN(B2+D) —1/TAN (B2+C+T1—A)
50 LET S1=(T#COS(D+T2)—2#SIN(D+T2) )/T

55 Bi= (ACS Si+D-T2)/2

60 S2=1/TAN(Bi1+B2) —1/TAN (B1+B2+C+T2)

65 LET X=INT (100#S2+0.5) /100—INT (100 » T+0.5°) /100

70 LET X1=ABS(X) ’

75 IF X1=0 GOTO 90

g0 IF B2>BN GOTO 110

85 NEXT B

90 LET B3=INT (100« B1+40,5) /100

95 LET B4=INT (100#B2+0.5) /100:LF1

100 LPRINT “Bi=", B3, TAB 10, *B2=", B4~

105 GOTO 200 , . IR

110 BEEP 3, 100, 30

115 PRINT “THE RESULT IS OVERFLOW,

120 GOTO 240



92 [ | ) s B SR B

*195 DATA(D)Y, (T1), (T2), (C), (A)

145 LET T=2/TAN(B2—A)—1/TAN(B2+D)—1/TAN(B2 +C+T1—A)

150 LET Si= (T COS(D+T2) —2#SIN (D+T2“),tv)/T

155 Bi= ( ACS S1+D-T2) /2

160 Sz—-1/TAN(B1+B2)—1/TAN(B1+B2+C+T2)

165 LET X (B2) =INT (100eS2+0,5) /100—INT:( 100 T+0,5) /100

170 RETURN L

200 READ G, Hi, F1, W1, P, U1, E1

205 X3=SIN(B3-+B4) ¢ SIN(B3+T2) ¢ SIN(B4+D) e SIN(B4+C+T1-A)

210 X4=SIN (B3—D) »SIN (B3+B4+C+T2) «SIN (B4—A) A2

215 X2=X3/X4 ey

220 RL= G-Hl/\z'Xz/(ZOCOSTl) B

225 KC= (F1e (W1eCOSA—PeSINA—U1eSIN(EI+A) ) ~Ui
:COS(E1+A)+RL)/(P¢COSA+W1-SINA)

230 LPRINT “KC=", KC

235 DATA(G), <H17>~_,' (F1y, (Wi), (P),‘ <U1>. (E1)

240 END '
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